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I] Choose the correct option: (1X15=15)

i) The serf had Right on land
a) Hereditary  b) Legal c) Personal d) Royal

ii) Who were sold along with the land?
a) Slave b) Farmers c) Serf d) None of these

iii)During which century did slavery stared to decline?
a)5s b) 6 c)7 d)8

vi) The serf and his family had over the produce.
a) Profit b)No Profit c) NoRight  d) Right

v) Sometimes a person under debt offered him as a slave. This practice was common in in Asia, Europe &
a) North America b) South America c) Africa d) Antarctica

vi) Serf economy is also known as economy
a) Feudal b) Lords ¢) Slave d)None of these

vii) In the New Stone Age everybody was engaged in production since it was very
a)High b) Medium ¢) Low d) None of these

viii) The emergence of what is directly linked with the production of surplus food?
a) Towns b) Tools ¢) Industries  d)None of these

ix) Who could not be separated from the land?
a) Slave b) Farmers c) Serf d) None of these

x) The masters considered the slaves as their property.
a) Spiritual b) Local ¢) Community d) Personal

xi) Whom did the Egyptian people enslaved in the pre-historic period?
a) Serbian b) Turkish c)Libian d) German

xii) Who was at the top of the social ladder in the ancient times?
a) King b) Priest ¢) Nobleman d) Farmers

xiii))Who automatically became slave?
a) Farmers’ children  b) Serf’s children ¢) Slave’s children d) None of these

xiv) Which economy replaced slave economy?
a) Feudal b) Lords c) Slave d) Serf

xv) Under which Empire did the slave institution reached its climax?
a) Mughal b) Shanghai ¢) Roman d) Gupta
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